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In the figure, Z/BAC =70° and £ZFDE = x°. SR AB BEERYZ #A L 1:2°% XYZW
Find the value of x . d fFE ML R FF s el
FceniE o
In the figure, identical squares ABCD and XYZW w z .
B D c overlap each other in such a way that the vertex
2000 HG6 A is at the centre of XYZW and the line segment ?
4B APQR 5 - £:#= £35,PT=RS; . AB cuts line segment YZ into 1 : 2. If the ratio of
PS~QT 42 M QN %2 PS> N- the area of XYZW to the overlapped region is
% ZQMN=x°> F x &g o c: 1, determine the value of c .
In the figure, APQR is an equilateral T 2019 HI1
triangle, PT = RS; PS, QT meet at M; and LB- ¢ ABCHE- BEE=425-D v E » % &
QN is perpendicular to PSat N . AB - AC gL ¢ 17 AE=BD - % CD f- BE #p
Let ZQMN = x°, find the value of x . N 1% 02 LCOE=y°» fyhiE o
: S ° n Figure 1, ABC is an equilateral triangle. D and E are
2009 HI7 points on AB and AC respectively such that AE = BD .

Id CD and BE intersect at O and ZCOE =y°,
find the value of y .

“ B > ABCDEF ¥ - & = :#2;> H ¢ wgh§_
PoAPST # - &= 435w AB=6cm>
QD=2cm 2 PT=12cm- %= #3587 = & 3
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In the figure, ABCDEF is a regular hexagon
centred at the point P. APST is an equilateral ©
triangle. It is given that AB = 6 cm, QD =2 cm
and PT = 12 cm. If the area of the common part
of the hexagon and triangle is ¢ cm?,

find the value of c.
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